
 

 

 

             Problem Solving: Grouping with remainders 
1. There are 7 balls which Anna must pack equally into 2 boxes.  

 

 

 

 

 

     Calculation:  _______ ÷ ________ = __________ 
 
    a) How many balls must be packed into each box? _____ balls per box       
  

      b) How many balls will be left over? _____ 

 

2. There are 10 balls which Kim must pack equally into 3 boxes.  
 

 

 

 

 

 

 

     Calculation:  
  
      _______ ÷ ________ = __________ 
 
    a) How many balls must be packed into each box? _____ balls per box       
  

      b) How many balls will be left over? _____ 


